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29. Let tan–1y = tan–1x + tan–1ቀ ଶ௫
ଵି௫మ

ቁ, where |x| <   ଵ
√ଷ
 . Then a value of y is 

 

ሺ1ሻ ଷ௫ି௫
య

ଵିଷ௫మ
           ሺ2ሻ ଷ௫ା௫

య

ଵିଷ௫మ
      ሺ3ሻ  ଷ௫ି௫

య

ଵାଷ௫మ
      ሺ4ሻ ଷ௫ା௫

య

ଵାଷ௫మ
             

 
Answer: 

Let ݊ܽݐଵݔ ൌ , ߠ ݔ ൌ ,ߠ݊ܽݐ ݔ ݁ܿ݊݅ܵ ൏ ଵ
√ଷ
, ߠ݊ܽݐ ൏ ݊ܽݐ గ

଺
, ߠ ൏ గ

଺
 

tan–ଵy  ൌ   tan–ଵx  ൅ tan–ଵ ൬
ݔ2

1 െ ଶݔ
൰   

tan–ଵy ݎ݋ ൌ θ ൅ tan–ଵ ൬
2tanθ

1 െ tanଶθ
൰  

or tan–ଵy ൌ  θ ൅ tan–ଵሺtan2θሻ  

or tan–ଵy ൌ θ ൅ 2θ  

or tan–ଵy ൌ 3θ  

or y ൌ tan3θ  

or y ൌ
3tanθ െ tanଷθ
1 െ 3tanଶθ

   

or y ൌ
3x െ xଷ

1 െ 3xଶ 

Correct option is ሺ૚ሻ ૜࢞ି࢞
૜

૚ି૜࢞૛
 

 

   


